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1.

(a) 7(0) (b) (1)
(e) —f(x) (f) f(x + 1)

Find the following for the function f(x) =

3% +2x- 4.

(c)f(-1) (d) (- x)
(9) 1(3x) (h) f(x +h)

@f0)=] | (Simplify your answer)
b)yf(y=[ | (Simplify your answer,)
©@f(-1=] | (Simplify your answer)
@f-x=[ | (Simplify your answer)
(€) -fx)=| | (Simplify your answer,)
Mfc+1)=[ | (Simplify your answer)
@7f(3)=[__ | (Simplify your answer,)
() fx+h)=[ | (Simplify your answer)

Answers -4
1
-3
3x%-2x-4
-3x? -2x+4
3x2+8x+1
27x% +6x -4

3x% +6hx + 3h2 + 2x + 2h— 4

ID: 1.1.43

e\ RS SR

/foF2g

\*\_'\\



B 3x =y
Fe) < 3@) & 2 @)-y
/Z/W Z300)0) —€201—Y
%{f) T (A0~
L@z O70—Y
Ao] <
(0) ,___\ /

B 9 =3xt+2x—y
A1) = 3(05+2¢) -v
A =3CO(D—+2()-Yy
A= 3C0) «201)-v
/5(() v 38 =Y

/((_2 'C“S = |
(/K(’) NG
L -




(ke /%f/iﬁxzn‘z,{/ﬂ-y
Zé’f)ZB/‘—f)c-—f 2(~1)~Yy
A1) = 3()(-0 <t t(-0~¥
A-t) = 3C1) + el=t)=Y

H-)z 3 —2~Y
/(F()f £ =%

(n /CX') =3xS 2~
/(*’-*’): S lm)E 2 oot ) —
//-'-fx} < (N -x) (<)~
A(-X) < 3(K") +er~<) -y

Gy




\ .
! C/@ 76//:3;(92)(#&(

_ /ﬂ] - = (3xStex—s)

6/&(71 —B%—Zfﬁ/.

@/ /ﬁ/:: 3xl+iex- (s

Art)= 3(a1)C 2 (iter)
A xer) < 30 Cent) + 2 (K1) =Y
)/(/(-f(/ < Z(A-/tﬁ‘-/z(# (£~1) +2 (K+l) — &
/(/,,,a() - 3???—??(—#/) + 2 (KFt) — Y

/(/t/#‘{.) 5 }/"t%(_xi;”% 2~ 2 —

A1) = 3x¢ fﬁt/
(fe o




s fgj= 30 26—
A(34) < 3(7/)6%8-('3(%—&/
/C’,() = 3(3<) (%) +2(x)—Y
A(3x) <> (GX°) 2 (3x)— %

(e < 2057 6x —

_/,../

2 ARl 38 i~
K k) = Blieh) T+ 2AH) =
/? k) T B (A4 Hh) < (Xth)— &
A k) = 3w+ Kb+ hHC ) 1 (K4 =Y
//(,{Cf/n.) L 3£Xt-f(/( bt IXh+6°) -2 (xeh) =y
W k) = 30x e exh—=6° ) 2led) — S

Uk ) 23X 6 xh 1355 & 12@




2. Find the domain of the function.
f(x) = 1/ 3x-9
The domain is . (Type your answer in interval notation.)

Answer: [3,00)
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3. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.
fog=2x+3; g(x)=5x-4

(a) Find (f + g)(x).

(f+g)(x)= (Simplify your answer.)
What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
(O A. The domain is {x[ }

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(O B. The domain is {x| x is any real number}.

(b) Find (f - g)(x).

(f-9)(x) = (Simplify your answer.)
What is the domain of f = g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
O A. The domain is {x| - _77_»‘*}_

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(O B. The domain is {x| X is any real number}.
(c) Find (f= g)(x).
(feg)x) = (Simplify your answer.)
What is the domain of f- g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
O A. The domainis {x| 2

(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(O B. The domain is {x| x is any real number}.
f
(d) Find [E} ().

f
[E] x)= (Simplify your answer.)

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The domain is {xl o }
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

(O B. The domain is {x[ x is any real number}.

(e) Find (f+ g)(3).

2 of 28 8/14/2019, 4:14 PM
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(f+9)(3)=

(f) Find (f-

| (Type an integer or a simplified fraction.)

g)(2).

f-9)2)=| ] (Type an integer or a simplified fraction.)

(9) Find (f- g)(4).

(f-g)4)=| - | (Type an integer or a simplified fraction.)

-
(h) Find [ p ] ().

f
(5] (1)= (Type an integer or a simplified fraction.)

Answers 7x-1

B. The domain is {x| x is any real number}.
-3x+7

B. The domain is {x| x is any real number}.
106% + 7x - 12

B. The domain is {x| x is any real number}.

2x+3
5x-4

—
A. The domain is {x| x#g |-

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(Use integers or fractions for any numbers in the expression. Use a comma to separate answers as needed.)

20
1
176

ID: 1.1.67
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4. ] . . f(x + h) = f(x)
Find the difference quotient of f; that is, find T h# 0, for the following function. Be sure to simplify.

f(x)=x% - 4x+9

f(x + h) - f(x)

h o I

Answer: 2x+h—-4
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5. Determine whether the graph on the right is that of a function by using the vertical-line

test. If it is, use the graph to find the following.

(a) the domain and range
(b) the intercepts, if any
(c) any symmetry with respect to the x-axis, y-axis, or the origin

Does the graph represent a function? Choose the correct answer below.
A. Yes, the graph is a function because every vertical line intersects the graph in more than one
point.
(_) B. No, the graph is not a function because a vertical line x = 3 intersects the graph at two points.

i.s.'w'é; Yes, the graph is a function because every vertical line intersects the graph in at most one
point.

D. No, the graph is not a function because a vertical line x = 3 intersects the graph at only one
point.

(a) What are the domain and range of the function? Select the correct choice below and, if necessary, fill in the answer
box(es) to complete your chmceEL tdy 134 { ) C L_,uf(._!m) T2 )

(’ ) ¥
-f?’i Theéomaln is (( Cf) Thefange® ( e P ) o

(Type your answers in interval not (G Use integers or fractions for any numbers in the
expressions.)

B. The graph is not that of a function.

(b) What is/are the intercept(s)? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

(&, Th{:tercept(s} is/are ( // O)

(Type-an ordéred pair. Use a comma to separate answers as needed.)
B. There are no intercepts.

C. The graph is not that of a function,
(c) Determine if the graph is symmetric with respect to the x-axis, y-axis, or the origin. Select all that apply.
(] A. The graph is symmetric with respect to the x-axis.

(] B. The graph is symmetric with respect to the y-axis.
| ]__C The graph is symmetric with respect to the origin.

\\M’D The graph has as no symmetry

[]E. The graph is not that of a function.

8/14/2019, 4:14 PM
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Answers C. Yes, the graph is a function because every vertical line intersects the graph in at most one point.

A. The domain is (0,4) . The range is (- 0,5)

(Type your answers in interval notation. Use integers or fractions for any numbers in the expressions.)
A. The intercept(s) is/are (1,0) .(Type an ordered pair. Use a comma to separate answers as needed.)

D. The graph has no symmetry.

ID: 1.2.19
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6. Using the given graph of the function f, find the following.

(a) the intercepts, if any

(b) its domain and range Q’l, ‘))
(c) the intervals on which it is increasing, decreasing, or constant J

(d) whether itis even, odd, or neither

2

472" 1@
(,Z/J) 2 (.j/a)

(8) What are the intercepts?

2,0 (i, o) (0)2)
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
o | -
(b) The(domaipis -5 2
(Type youranswer in interval notation.)
Th rangp'is {'(‘) i .(
(Typeyour answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

A, The graph igjnc;'e_asinﬁ on [;_2/ 0 ( [- // K }
(Type your answer in interval notation. Use a comma to separate answers as needed.)
(O B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

oA e, 23 - ,
(<vA. The graph i(t_:leﬁr_qag.in‘g on ( 3/ . ¢ Z ( C)/ ( Y
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on .
(Type your answer in interval notation. Use a comma to separate answers as needed.)
( T5B. The graph is not constant on any interval.

-

(d) The function is (1)

(1) O odd.
¢~ & neither odd nor even.
even. o

6 of 28 8/14/2019, 4:14 PM
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Answers (-2,0),(1,0),(0,2)
[-3.3]
[0,3]

A. The graph is increasing on [-2,0],[1,3] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on |[- 3, - 2],[0,1] ..
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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7. The function f is defined as follows.
3+x ifx<0

fi =
i 2 jfx20
X

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

e )

doma fuyof the function f is b (2
eur-answer in interval notatior.)

(a) Th
(Type3

https://xlitemprod.pearsoncmg.com/api/v1/print/math

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

/ A. Th@cept(s} is/are
(Typean ordered pair.

S 3,0)(0,0)
se a comma to separate answers as needed.)

(O B. There are no intercepts.

(c) Choose the correct graph of f(x) below.

O A,

(d) Th rangeofthefunctlonfls g ! Z)
(Type r-answer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/fare (- 3,0),(0,0) .
(Type an ordered pair. Use a comma to separate answers as needed.)

(;U'I “ 6.-( J L )
A-miy= — T

. )(r— M1 ¢ )( z /Z_ -\\I1|
(- 00,00) 7/' m I T ~/‘7 l
ID: 1.4.37 7 - Mex = /
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8. The graph of a function f is illustrated to the right. Use the graph of f as the first step Ay
toward graphing each of the following functions. L
(@) F(x)=f(x) + 4 (b) G(x) = f(x + 5) (c) P(x) = —f(x)
1 ]
(d) HX) =f(x +2) - 2 (€) Q) = f(x) ) g(x) =f(-x) {
(9) h(0) =f(2x) o

(a) Choose the correct graph of F_(x) =f(x) + 4 below.

(b) Choose the correct graph of G(x) = f(x + 5) below.

O A. O B.

(c) Choose-the correct graph of P(x) = = f(x) below.
SE S

% 0Oc D.
\

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

9 of 28 8/14/2019, 4:14 PM
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(g) Choose the correct graph of h(x) = f(2x) below.

O A OB. @e. \a;l D.

10 of 28 8/14/2019, 4:14 PM
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Answers

ID: 1.5.63
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9.
(a) Graph f(x) = |x + 5] - 4 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis 10-‘
that lies below the x-axis. 8
B

(a) Graph f(x).

(Use the graphing tool provided to graph the function.)

2_
(b) The area of the region bounded by f and the x-axis that i .
lies below the x-axis is square units. ———T —r——r r———————r— >
(Simplify your answer.) Wododot g 2' &t il @ie 10

=

1

-6~

-8

-10-

Answers

ID: 1.5.81
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_/)( — % D

10. Find th{'ier}vof the quadratic funet:oa_b_zjactonng What are the x-intercepts of the graph of the function?

g(x) = 2x° —7x - 4 ((.’rx’ “(’ ()( 4/) - D

Select the correct choice below and fill in the answer box to complete your choice. Z)< '/L/ =0 g% )(HV e 7o)
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

) The zeros and the x-intercepts are different. The zeros are , the x-intercep;s/_
O A . ~ { /(‘Y +&
are . X —I ,u-“/ c./_-/;,,
¢ B. The zeros and the x-intercepts are the same. They are
2X=—
< ,"\ |‘ 1
Answer: B. The zeros and the x-intercepts are the sa:ﬁ?e Theyr aré - 5,4 b
R
ID: 2.3.19

e — —
1‘-. —

11. Find the@of the quadratic function dsmg@are root method What are the x-intercepts of the graph of the
function? ———re e

gx)=(x-1)2-9

Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
) A,
- are

) B. The zeros and the x-intercepts are the same. They are

Answer: B. The zeros and the x-intercepts are the same. They are 4,-2
(&
ID: 2.3.29 (X”() a CP ==
Z -
&,

V-0t = 5l

r—f = 3 |
Y= =— % ot A=/ =

K= “f/ <~ 371 gk X~ €] = -/

(2 a2

%

\_
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12. Findt é Zeros, lf’any. of the quadratic function using th@uadratlc formula What are the x-intercepts, if any, of the graph
of the function? ———

f(x) = 8x% — 1 +4x

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

O A are

() B. The zeros and the x-intercepts are the same. They are

(O €. There is no real zero solution and no x-intercept.

Answer: B. The zeros and the x-intercepts are the same. They are

—~1+4/3 -1-43
4 ’ '

4

ID: 2.3.47
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//{]i / —(“ ¥ — (
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1
( * For the quadratic function f(x) = X2 - 4x - 12, answer parts (a)
through (c).

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?

up
down

What are the coordinates of the vertex?

The vertex of the parabola is

(Type an ordered pair. Use integers or fractlons for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below

and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is
(Type your answer in interval notatlon )

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is

decreasing.

The function is increasing on the interval
(Type vour answer in interval notation.)

16 of 28
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A g

(2,-16)
Xx=2

A. The x-intercept(s) is/are 6,—2 ls
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is =12 (Type an integer or a decimal.)

ny
20+

)(r"/’?’l /f’ Cay F (:Z)Cy‘ ]
8

20 -16 -12

CTTR4019, 414 PM
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“ & /X»%) <R

~ V‘V‘/{/ e (_- _r
14, i’?zo\( }TL Z X 3//)
Determine the quadratic function whose graph s given The quadratic function which describes the given graph is
below. -

M ER Y S S (JED

“ (< & (3) =0 VS | l_

] - 0{(')>/13>~/‘3 ' / = ( ()<"‘f‘3)

—(= & (9) /O / E ((x«%)»éﬂ)ﬂ -
~ C Fa—/ o vz (X —rBM”’ﬂ

)0 T T4 /-’»-/- /2 j?i (K 6xAF) /2

)=

X

10

(-3,- 10)] u’/m‘ oy C“ 76{_

e, 3 )( e P S B
-(»’/Uﬂ )3 2] g 9 (= (i --&\H :j’
(-5 (& ‘j X + 6x— | H?" _

Answer: y2 1 gx - 1 ,_
f\ ,,,/

ﬁ St
ID: 2.4.49

15. Determine, without graphing, whether the given quadratlc function hfmaxnmum alue or a minimum value and then find

the value. / CD/u{J 0 ’(/’4-—,'::. L L & —"‘*/)‘-\g m
2 e
f(x)= —2x" +8x—86 3 L )
l/w"/ Léy - [f— 2 - ..42
Does the quadratic function f have a minimum value or a maximum value? 2"\ e

() The function f has a minimum value.

- (S :
() The function f has a maximum value. 44 - _‘2 }< —(’ //( — Q

What is this minimum or maximum value? a - —C !9 < 27 C = —
YRy 2

srsrises o < (~( 2) )

Answers The function f has a maximum value, Z ( (3 )

22N = /((EVZ/

7/

ID: 2.4.59 V il - / 2/ /(,L _)‘)
V{{L{ X =1, ~UD a0
i) f( 2, ¢ (qz)(&) + 82 —~¢)
TEX T, <) ¢ P2 ~¢)

v,,- bx =(2) =7 7/6/)
f”/ /
GZ 2\ /?7ax

18 0f28
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16. Use the rational zeros theorem to find all the real zeros of the polynomial function. Use the zeros to f; ctar f over the real
numbers. / 0554 &y

Ceed . LisT

Arst T

Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete your answer.

TL(/ _7; 5’/ E 3/ f_fsz/__

f(x)= x> +3x% - 13x - 15

(A x=
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or T
fractions for any rational numbers in the expression. Use a comma to separate answers as _ i
needed.) L de EZ L ¢l
— el el -
() B. There are no real zeros. -+ / + = ot +/
Use the real zeros to factor f. ) . . 7 -
Ctivy 2,13, 1T) )

f(x) = | — ——
(Slmpllfy your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression.) :

\436 Sy 4 /\(ltc &lLvajtr;‘
Answers A. x= =5, -1,3 | a% _—v—’ /
swWer u

(Simplify your answer. Type an exact sang—radrtfél? as needed. Use integers or fractions for any
rational numbers in the expression. Use a comrna to separate answers as needed.)

(x+ 1)(x +5)(x - 3) 4 /X ﬂr §X — (/,{/—/\

ID: 3.2.45 (_} ! 3 =f 3 — (s
~( —7

B J 2; —[ Vv @)) /Zé’n.v,
Lo
i bl —(vy =|2
(X —3} X+ 5) -
<o K=3=0 0a Ky o
K—o3=C ”{j C**( /(45'——; S0
N &[V)f 7 s

[ =8, ¥4 =& %\ Vi

[ A
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17. Find t{ verttcal} ggnzontal an@ obllque asymptotes if any, for the following rational function.

15x
X+6

R(x) =
Select the correct choice below and fill in any answer boxes within your choice.

) A. The vertical asymptote(s) is/are x =
(Use a comma to separate answers as needed.)

() B. There is no vertical asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

) A. The horizontal asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

(") B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within your choice.

O A. The oblique asymptote(s) is/are y =
(Use a comma to separate answers as needed.)

(") B. There is no oblique asymptote.

Answers A. The vertical asymptote(s) is/are x = -6 .(Use a comma to separate answers as heeded.)
A. The horizontal asymptote(s) is/are y = 15 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

,\<
ID: 3.4.45 /(/ / (;
xS /( = 6 —

20 of 28 —— 8/14/2019, 4:14 PM
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18. For f(x) = 7x + 7 and g(x) = 6x, find the foliowing composite functions and state the domain of each.

21 of 28

(a) fog (b) gof (c) fof (d) gog
(@) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fogis {x | 3
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of f o g is all real numbers.
(b) (g o H(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domainof gofis {| }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo fis {x | 2
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(0 B. The domain of f o fis all real numbers.
(d) (@ g)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of go giis {x | }.
(Type an inequality. Use integers or fractions for any nhumbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o g is all real numbers.

Answers 42x +7
B. The domain of f o g is all real numbers.
42x +42
B. The domain of g o fis all real numbers.
49x + 56
B. The domain of f o f is all real numbers.
36x

B. The domain of g o g is all real numbers.

8/14/2019, 4:14 PM
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[~

J

) The function f(x) = 2x - 1 is one-to-one. Ay
(a) Find the inverse of f and check the answer. 20
(b) Find the domain and the range of fand f Ll 16-]
(c) Graph f, f~ ! , and y = x on the same coordinate axes. 1?:
- a
@f 0= ;
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) N x
_ _ . 20 6 2 B 4 ] 4 & 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4]
necessary, fill in the answer box to complete your choice.
-8
) A. The domain is {x|xs } _12:
'S P, 1
' B. The domain is {x|x# b 16]
(.} €. The domain is {x[xz } 56

) D. The domain is the set of all real

numbers. 4{7 = L0~ /

Find the range of f. Select the correct choice below and, if

necessary, fill in the answer box to complete your choice. \7 = 2 W — (

(O A. Therange is {yly# b ) /

() B. Therange is {y|ysﬂ? } )< s _/

() €. Therange s > : — .

geis {yly 3 J T / - Py — / +
(_' D. The range is the set of all real numbers.

Find the domain of f~ 1. Select the correct choice below and, if ( ) 7

necessary, fill in the answer box to complete your choice. /(.7/ / - - l‘/

) A. The domain is {x|x2 2

() B. The domain is {x|x# }. '(»-/ /

) €. The domain is {X|XS_N } Z/

o

i) D. The domain is the set of all real oy
numbers. -
,- }{ 1 / — 3y
; -1 : ) / e G D=
Find the range of f . Select the correct choice below and, if -~ Z,

necessary, fill in the answer box to complete your choice.

() A. Therange is {yly= - bs
() B. Therangeis {yly* }.
(' C. Therange is {V|V5 e }

() D. Therange is the set of all real numbers.

(c) Graph f, f~ ! , and y = x on the same coordinate axes. U
the graphing tool to graph the functions.

24.0f28 = _ $/14/2019,4:14 PM__
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X+ 1
2

Answers

D. The domain is the set of all real numbers.

D. The range is the set of all real numbers. .
D. The domain is the set of all real numbers. g ( /
Fa ] ILJ/
S, 7

D. The range is the set of all real number: ; , o T )
. Y 3 { ‘/

ID: 4.2.53 =

il _ —=XF 5] <
20. Solve the equation. Y = /i[)

64_X+39=128X év. ~/'(r—|‘33 ?.\ ( X
0 = ( )
The solution set is {l } / / ; 2

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

~e X F23Y N 7'

—

Answer: 18

ID: 4.3.73 6 X3y <7/ X
DL S Y P S
~6 X = X — 237 _
—6¢— 7 X = ~ 39—/ x"

— /3y T —L3Y
—~I0% — —€3%

/—~\

—[73 —f 3

250f28 - 8/14/2019, 4:14 PM
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21.

Solve the equation. /L,/p ; ((/)(-,f 3 / e k/

log 5(4x+3)=4 c/¥ .#___,f"
Ch the gi I ithmi tion t tial form. ; i )
ange the given logarithmic equation to exponential form ;-) 2 (/ )(—f 3
(Type an equation. Do not simplify.) Z (z, Z ‘ Z, pl (/ (——/}

The solution set is { . / ( - & J(_( 3

(Simplify your answer. Use a comma to separate answers as needed.)

/6—3 T ¥ A

Answers 4y 4 3 = 2%

13 (>

LQ‘)(
0 13 = 9X /
¢ T

ID: 4.4.91-Setup & Solve

——

22. Solve the logarithmic equation.

ID: 4.6.17-Setup & Solve ( /( — 5 »(/

log x+ log (x+15)=2 ZO )< 7 599 (/(‘f/f) = 2 O/VLW
Determine the equation to be solved after removing the logarithm. Cuj (/4)/,\/./ / Y,) = . (}U{}Qf"

/o
(Type an equation. Do not simplify.) / )( (/(ﬂf [ ) / l
Select the correct choice below and, if necessary, fill in the answer box to complete your choice, ‘

/0 /U T X(/f/&):g

) A The solution set s { }.
(Simplify your answer. Type an exact answer. Use a comma to separate ansyers as
needed.) /U\.} X T(xX
(O B. There is no solution. O - )( LT/ A P (( (/})( §) 7 (U} ?} 73) / ;L-
. : o 'S, ( ¢ ) ’7" CU y e
Answers x(x + 15) = 102 0 & O( _ J)(/Q'/'ZLD — {-(JL\J il /O'rn-_{?l

A. The solution set is { b A/.__Sf O —(ZL} = CU / Zd)ﬂ‘(@ /‘f""ﬂﬁ F

(Simplify your answer. Type an exact answer. UUse a comma to separate answers,as nasd
)(/3—1‘& or s M{—fzo—a- - O y
: T u// GJ/PZ‘/) T{fj—c')ﬂ
=7
r = 2

: A
23. Find the amount that results from the given investment. ﬂ = ///{ = FK/ ¢
N /
$500 invested at 5% compounded quarterly after a period of 3 years e g’( 2 / N
W ([ 2= < $YZ 7 .S
After 3 years, the investment results in $ € / T ({, r

260f28.

/'2-- /L/Z,(/‘L 6()\"1/1.)
€ =3

(Round to the nearest cent as needed.)

Answer: 580.38

ID: 4.7.7
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K (]5)= 0vlry)

24. How many years will it take for an initial investment of $40,000 to grow to $60,000? Assﬂ/me a rate of interest of 4%

.~ compounded continuously. - v € )

Sl ; éﬁT gay = S(U guy C’ / / / - ,a&{
It will take about . years for the investment to grow to $60,000. ( OV// 4’. A LOYL gyl
(Round to two decimal places as needed.) 50 VY, ‘7‘5 ouu € i

f-f'—__ -

Hswer: 9’”0’6’“’ “O gou é— L !L_”—/ !
Answer: 10.14 C’C?é i ¢ /555577 =& é

1474 /Z// < b 6’//) 4 ~— O -
| ID:4741 ___/Q(/f)__,ggﬁx?’/ @v/y ["/fu%

25. Solve the system of equations. If the system has no solution, say that it is |ncon513tent

4x -3y=2
5x +y =12

Select the correct choice below and, if necessary, fill in any answer boxes within your choice.

0 A. The solution of the system is x = andy=
(Type an integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered pairs, the solution can be written as
{(x,y)|x= ~_,yanyreal number}-
(Simplify your answer. Type an expression using y as the variable as needed.)

() C. The system is inconsistent.

Answer: A. The solution of the system is x = 2 ‘andy= 2

Sa b sk

(Type an integers or simplified fractions.)

ID: 6.1.33 g

H,/—\';\'J/,w;f—f*smmmw_
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26. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

x-2y+3z= 13
2x+ y+ z= -4
-3x+2y-2z= -6

Select the correct choice below and fill in any answer boxes within your choice.

() A. The solution is x = e ,and z= . (Type
integers or simplified fractions.)

(O B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2)|x= y= , Z any real number}.

(Simplify your answers. Type expressmns usmg z as the variable as needed. )

() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{(x y,Z) | X= ~_____,yanyreal number, z any real number}
(Simplify your answer. Type an expression using y and z as the variables as needed.)

() D. The system is inconsistent.

Answer: A.
The solution is x = -2 VY= -3 ,andz= 3 . (Type integers or simplified

fractions.)

l

Z/u/? /ﬁ/afz,( 6////// IXy

//j 3 /3 /
/ /-y
2 -7 =

/Lt_/)/ YV RO, /%4//4 // ///_(/[()

Ho ;) ek, < ) )

ree £ IA]

VY,
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